MPA Spring 2013 Elective Survey: Project Management



1. Your Student Status: Response Response **Percent** Count Admitted MPA student: 1st year 20.0% 1 Admitted MPA student: 2nd year 80.0% Admitted MPA student: 3rd year or 0.0% 0 more Other (graduate special student or 0.0% 0 undergraduate student) answered question 5 skipped question 1

2. Please rate the quality of the course using the following scale:

| | Rarely | Occasionally | Sometimes | Frequently | Almost Always | Rating Average | Rating Count |
|--|--------|--------------|-----------|------------|------------------|-------------------|-----------------|
| Course was well-organized | 0.0% | 0.0% (0) | 0.0% (0) | 16.7% (1) | 83.3% (5) | 4.83 | 6 |
| Course content was interesting & presented clearly | 0.0% | 0.0% (0) | 0.0% (0) | 33.3% (2) | 66.7% (4) | 4.67 | 6 |
| Course content matched course objectives | 0.0% | 0.0% (0) | 0.0% (0) | 16.7% (1) | 83.3% (5) | 4.83 | 6 |
| Instructor feedback on coursework was useful & timely | 0.0% | 0.0% (0) | 0.0% (0) | 33.3% (2) | 66.7% (4) | 4.67 | 6 |
| Assignments/exercises were interesting & relevant | 0.0% | 0.0% (0) | 0.0% (0) | 33.3% (2) | 66.7% (4) | 4.67 | 6 |
| Readings were interesting & relevant | 0.0% | 0.0% (0) | 0.0% (0) | 33.3% (2) | 66.7% (4) | 4.67 | 6 |
| Seminars were interesting & relevant | 0.0% | 0.0% (0) | 16.7% (1) | 16.7% (1) | 66.7% (4) | 4.50 | 6 |
| I had the opportunity to participate in class | 0.0% | 0.0% (0) | 0.0% (0) | 33.3% (2) | 66.7% (4) | 4.67 | 6 |
| Classroom learning environment was supportive & respectful for all | 0.0% | 0.0% (0) | 0.0% (0) | 33.3% (2) | 66.7% (4) | 4.67 | 6 |
| Course was intellectually challenging | 0.0% | 0.0% (0) | 0.0% (0) | 16.7% (1) | 83.3% (5) | 4.83 | 6 |

COMMENTS

2

| answered question | 6 |
|-------------------|---|
| skipped question | 0 |

3. Please rate the quality of the course using the following scale:

| | Very Poor | Poor | Fair | Good | Very Good | Excellent | Rating Average | Rating Count |
|---|--------------|-------------|------|---------------|--------------|-----------|-------------------|-----------------|
| Development of knowledge,skills and abilities | 0.0% | 0.0% (0) | 0.0% | 0.0% | 16.7% (1) | 83.3% (5) | 5.83 | 6 |
| Overall INSTRUCTOR rating | 1 | 0.0% | 0.0% | 100.0% (6) | 6.00 | 6 | | |
| Overall COURSE rating | 0.0% | 0.0% | 0.0% | 0.0% | 16.7% (1) | 83.3% (5) | 5.83 | 6 |

COMMENTS

2

| wered question 6 | |
|------------------|--|
| ipped question 0 | |

4. Should the MPA program offer this course again?

| | Response Percent | Response Count |
|---|---------------------|-------------------|
| Yes | 83.3% | 5 |
| Yes, with these changes (describe changes in comment field) | 16.7% | 1 |
| No | 0.0% | 0 |

DESCRIBE CHANGES

answered question 6

1

skipped question 0

| 2 | ٥f | _ |
|-----|----|---|
| . 5 | OI | ລ |

5. OTHER COMMENTS Response Count 1 answered question 1 skipped question 5

| Q2. Plo | ease rate the quality of the course using the following scale: | |
|---------|--|----------------------|
| 1 | HARD course!!!! but well worth the time and effort put into it. Learned a lot. | Jul 15, 2013 2:54 PM |
| 2 | This was one of the most challenging, but rewarding, courses I took during my MPA Program. | Jul 15, 2013 2:45 PM |

| Q3. Please rate the quality of the course using the following scale: | | | | |
|--|--|----------------------|--|--|
| 1 | I had no public sector experience prior to this class and this class gave me a good foundation for working in the "real" world and working with people. | Jul 15, 2013 2:54 PM | | |
| 2 | Amy, as always, exceeded my expectations as an instructor. The course was incredibly well put together, and Amy played an invaluable role in my success. | Jul 15, 2013 2:45 PM | | |

Q4. Should the MPA program offer this course again?

Prepare students for the unexpected with Project Management Assignments with Jul 16, 2013 9:23 AM local employers.

Q5. OTHER COMMENTS

I had a great experience. I was lucky enough to be group with some wonderful, honest, intellectual students. My rating was based on my group assignment and the fact I also was fortunate enough to be tied to an agency that really valued students and truly wanted and needed help with a major project. From what I understand, not all groups experienced this opportunity in the same way. Some groups had lots of conflict, while others dealt with an uninterested employer. My ratings are based on both my group dynamics and the fact I was lucky enough to be paired with a state agency that solicited input from students. My rating would definitely be different than the one above if that hadn't happened. I will say that Dr. Gould was an outstanding educator in this class. She brings a wealth of work and personal experiences to her lectures. I learned a great deal from this class. She shares the kind of experiences that you could never, never learn from a text, and for that, I am truly grateful.

Jul 16, 2013 9:23 AM